3-1)
Find the speed with which Lars will just touch the edge of the ledge.
Pick the origin to be the top of the cliff, x positive to the right, and y positive upward.

xi=0

xf=1.75m

Vix = ? (: Vo)

Vxf = ?

ax = 0 (influence of gravity only)

yi=0

yi=-9m

viy = 0 (jumps horizontally)

Vyf = ?

ay = -9.8 m/s? (influence of gravity only)

Use the y information to find the time to fall:

Y = Vi + Vigt + Yoayt?
-9=0+0*t-4.9t?

t2 = [-9]/[-4.9] = 1.84
t = 1.36 seconds

Substitute this value into the x equation:
Xt = Xi + Vixt + Hoaxt?
1.75=0+vix(1.36) + 0

vix = 1.75/1.36 = 1.29 m/s



